LADDER DESK

ASSEMBLY INSTRUCTION

page 1 of 13




ASSEMBLY INSTRUCTION

ASSEMBLY INSTRUCTION

ASSEMBLY TIPS:

1.Remove hardware from box and sort by size.

2.Please check to see that all hardware and parts are present prior to start of assembly.

3.Please follow attached instructions in the same sequence as numbered to assure fast & easy assembly.

A Warning !'!

1. Don't attempt to repair or modify parts that are broken or defective .Please contact the store immediately.
2. This product is for home use only and not intended for commercial establishment.

X ASSEMBLY TIME PER UNIT: |40 MINUTES
v

PARTS IDENTIFICATION

(A) UPPER SHELF % 1pc | G IégvgggBTSHT 1PC
zros | WIRIGHT SE
1pc | (K)BACKPANEL 1PC

(F) LOWER LEFT 1pc | (L)REARBOTTOM 1PC

CROSSBAR CROSSBAR

page 2 of 13




ASSEMBLY INSTRUCTION

(M) FRONT BOTTOM 1pc | (S)DRAWER BACK 1 PC
CROSSBAR PANEL

(N) MEDIUM BOTTOM 1pc | (T)DRAWERLEFT 1PC
CROSSBAR SIDE PANEL

(O) LEFT UPPER 1pc | (U)DRAWERRIGHT 1PC
POST SIDE PANEL

(P) LEFT LOWER 1pc | (V) DRAWER BOTTOM 1PC
POST PANEL

(Q) RIGHT UPPER 1pc | (A1)DRAWER BOTTOM 1PC
POST SUPPORT

(R) RIGHT LOWER (A2) DRAWER FRONT
POST 1PC PANEL 1PC

page 3 of 13




ASSEMBLY INSTRUCTION

Z HARDWARE PACKAGE
NO DESCRIPTION FIGURE QTY
1 LARGE SCREW ®4x30mm 26 pcs
2 SHORT DOWEL @8x25mm = 11 pes
3 SMALL STICKER ¢13mm 18 pes
4 LARGE CAMBOLT L29mm 24 pcs
5 LARGE CAMLOCK #15mm 24 pes
6 INNER THREAD SCREW M6mm 6 pcs
7 LARGE FLAT HEADED SCREW M6x20mm 10 pes
8 LARGE STICKER $20mm 18 pes
9 METAL CONNECTING PIECE ~ 170x24x3mm 2 pes
10 SMALL FLAT HEADED SCREW M6x12mm 8 pcs
11 ALLEN BOLT M6x65mm 6 pcs
12 WASHER #8x316x2mm 6 pos
13 BARREL NUT M6x11.5mm 7>) 6 pcs
14 SMALL CAMBOLT L20mm 4 pes
15 SMALL CAMLOCK $12mm 4 pcs
16 LONG DOWEL $6x30mm 2 pes
17 ANTI-TIP HARDWARE \ 1 pes
18 SMALL SCREW $4x25mm 1pes
19 WALL SCREW #5x40mm 1pcs
20 PLASTIC ANCHOR $8x40mm 1 pcs
21 GLUE 1 pcs

page 4 of 13




ASSEMBLY INSTRUCTION

STEP1

STEP2

page 5 of 13




ASSEMBLY INSTRUCTION

STEP3

STEP4

page 6 of 13




ASSEMBLY INSTRUCTION

page 7 of 13




ASSEMBLY INSTRUCTION

STEP7

STEP8

page 8 of 18



ASSEMBLY INSTRUCTION

STEP9

STEP10

page 9 of 13




ASSEMBLY INSTRUCTION

STEP11

STEP12

page 10 of 13



ASSEMBLY INSTRUCTION

STEP13

STEP14

page 11 of 13



STEP15

STEP16




STEP17

STEP18




	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)
	801373 书柜 安装图 Model (1)

